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Important information.
e This is marking guideline. In instances where learners have used different Mathematically
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Symbol Explanation

M Method mark

CA Consistent Accuracy mark
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MATHEMATICS

Ques. | Solution Mark Allocation Total
QUESTION 1
1.1 C
1.2 D
1.3 B
1.4 C
15 B Give 1 mark for each correct
1.6 D answer.
1.7 B
1.8 B
1.9 C
1.10 C
[10]
QUESTION 2
2.1 13 VA 13: 1 mark (1)
2.2 Th=3n + 1vVvA 3n: 1 mark
+1: 1 mark
OR
4: 1 mark
Tn=4+3(n—1) vvVA 3(n—1): 1 mark (2
2.3 T =3(20) + 1 Answer: 1 mark
=61 vCA
OR
Too=4+ 3(20 — 1)
=61v CA (1)
[4]
QUESTION 3
3.1 (5%)° 1: 1 mark
3.2 Xy i1 Same denominator: 1 mark
2 3
— 3x6—2y+g v M
3x —2y+1: 1mark
3x—-2y+1
s VA 2)
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3.3 -(3x —2)% + 4x
=-9x2—-6x+4)+4x v M
=-9x2 +6x —4+4x v M

9x%—6x+4: 1mark
—9x? +6x — 4: 1 mark
—9x? +10x — 4 : 1 mark

=9x?2+10x—4 v CA (3)
[6]
QUESTION 4
4.1 x?—8x+15 (x —3): 1 mark
= (x—3)Y(x—-5) VA (x —5): 1 mark (2)
1
4.2 . 2—8
2_
s ad 216 . 1 mark
= =z - v A
(- (x+4) (x—4)(x+4),
_ ; VA — 1 mark (2)
4.3 x%+3x +tx + 3t Grouping: 1 mark
=x(x+3)+tx+3)v M (x +3): 1 mark
=x+3)v((x+t) VA (x +t): 1 mark (3)
[7]
QUESTION 5
51 3x +4 =10
x _10-4 Calculation: 1 mark
3 3
x=2vA Answer: 1 mark (2
5.2 x x+5
— = 0
Multiply LHS and RHS by 6
2x +3x+ 15
6(——) = 0x6v M
( 6 ) Simplification: 1 mark
5 +15=0 v M
5x =-15
x=-3 YCA Answer: 1 mark (3)
5.3 x3 =125
x3=53vM Calculation: 1 mark
x =5VvA
Answer: 1 mark
OR
x3 =125
x = Y125 vM
x=5vA (2)

[7]
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QUESTION 6
6.1 1,7 x 1013 vA Answer: 1 mark (1)
6.2 |90km/h =Zh
~xkm/h =3h 3 Xx km/h: 1 mark
3x xkm/h v =90 x% vM
90 x%: 1 mark
Average speed = 105 km/h v A Answer: 1 mark (3)
6.3 Sl =2 M Formula: 1 mark
100
 R4400X4X7 . Substitution: 1 mark
B 100 :
— R1232.00 vCA Answer: 1 mark
OR
SI = Pni vM
=4400 X7 x0,04vM
= R 1232,00 vCA (3)
6.4 |A= P(1+—)"
100 .
— _7 N4
=5600P(1+ 100) M Substitution: 1 mark
= R7 340,46 v CA
Answer: 1 mark
OR
A=PO+0D"
=5600(1 + 0,07)*vM
= R7 340,46 v CA (2)
6.5 now 6yrs ago Correct statement: 1 mark
Sonis «x x—6
Father 3 x 3x—6
3x—6 =5x—-6) vM Calculation: 1 mark
2x = 24 vYM
x =12
Son =12 years vA 12 years: 1 mark
Father = 36 years v'CA 36 years: 1 mark (4)

[13]
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QUESTION 7
711X (-1;4) Y(0;5)

m = Y2-V1 \/M

X 22— X1
_5-1
T 0+1
=1 vM
y-intercept =5
y=mx+5
=x+5VvA
OR
Y(0;5) Z(1;6)
m=2"Y1yM
X2 - X1
6-5
m =—
1-0
=1 vM
y — intercept =5
y=mx+5
=x+5VvA
OR

x(-1;,4) z(1;6)

y-intercept =5

Calculation: 1 mark

m=1: 1 mark

Answer: 1 mark

y=mx+5
=x+5vA (3)
7.2
X -2 -1 0 1 2
y=2x—-1 -6 -4 -2 0 2
=-1 -1 -1 -1 -1 -1
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7.2

y=2x—2

A

A

x-intercept : 1 mark v/

y-intercept : 1 mark per graph v + v/
Labelling graph v + v/

(5)

| [8]
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QUESTION 8
81 |811 | SRT=Q=x+70° (corr. 4s,
RT//QP) vA
Correct statement with
S 4+TRS + P =180° (sum of f zs of reason: 1 mark
A) VA
x 4+ 10° 4 28°+ 70° = 180° Correct statement with
2x +108° = 180° reason: 1 mark
2x =72° YA Simplification: 1 mark
x = 36° VA Answer: 1 mark | (4)
8.1.2 | STR = P = x + 10° v'A (corr. 4s,
RT/IQP) v Correct statement: 1 mark
A STR = 36° + 10° Correct statement: 1 mark
= 46° VA Answer: 1 mark | (3)
8.13 |SRT=Q=x+70° (corr. 4s, Correct statement: 1 mark
RT/IQP) x+70° =36°+70°vVA
= 106° Substitution: 1 mark
106° + 90°
~ PQS is not a right angled triangle v'A Answer: 1 mark | (3)
82 (821 In AABC and ATSP Correct statement with
reason: 1 mark
B=P =70° (given) v Correct statement with
¢ =S =70° (base zs of is 0s. A) VA reason: 1 mark
A =T =40° (sum of zs of A) VA .
« AABC//] ATSP (222) VA Correct statement with
reason: 1 mark
Correct statement with
reason: 1 mark | (4)
8.22 |y=AC=15 (given) VA Correct statement with
reason: 1 mark
B_B_A (Sides are
BC AB  AC Correct statement with
proportional)v'A _
| sx12 reason: 1 mark
12 1s
Answer: 1 mark
~x=4units YA (3)
8.3 |83.1 |InAABC and ADCB Correct statement with
1. A=D (given) VA reason: 1 mark
Correct statement with
2. ACB=DBcC (given) v A reason: 1 mark
Correct statement with
3. BC = BC (Common) vA reason: 1 mark
Correct statement with
4. AABC = ADCB (£4S5) VA reason: 1 mark | (4)
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8.3.2 AB = DC (From congruency) vA

Correct statement with
reason: 1 mark

~ BC = 4 units v A Answer: 1 mark | (2)
[23]
QUESTION 9
9.1 |P'(-4;-1) vA Answer: 1 mark
Q'(-1;3) VA Answer: 1 mark
R'(4:1) VA Answer: 1 mark (3)
9.2 | Translation v'A Answer: 1 mark | (1)
[4]
QUESTION 10
10.1 |V =nar’h vM Formula: 1 mark
= (3,14 X 7%) cm? x 20) cm! vM Substitution: 1 mark
=3,14 X 49 cm? X 20 cm
= 3077,2cm® VA Answer: 1 mark | (3)
10.2 | In ADBC
DB? = 64 + 34 cm? (Pythagoras) v’ M Correct statement with
=100 cm? reason: 1 mark
=10cm v A 10cm: 1 mark
In AABD :
AD?* = (26 — 10%) cm? ( Pythagoras) v' M Correct statement with
= (676 — 100) cm? reason: 1 mark
= 576 cm?
~AD =24 cm v A Answer: 1 mark | (4)
10.3 | V =30cm3 (given)

Volume when all dimensions are doubled:

V=10cmx6cmx4cm v M
240 3
="—cm
30
=8
8 times v' A

Calculation: 1 mark

8 times: 1 mark

(2)

[9]
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QUESTION 11

111

Tennis = i—z X 360° = 90° vM
Rugby = - x 360° = 135°
Cricket = % X 360° = 45° v'M

Swimming = g %X 360° = 90°

Tennis Swimming

90° |90°

45°

o Rugby
Cricket 135

Pie chart showing learners participating in different
extra-mural activities v'A

Calculation for
any two: 1 mark
Calculation for
any two: 1 mark

Pie chart: 1 mark

vA Label: 1 mark | (4)
11.2 Range = 145 - 116
=29 VA Answer: 1 mark | (1)
11.3 11.3.1
Second toss
Head | Talil Answer: 1 mark
First Head H;H H;T
toss Answer: 1 mark
Talil T:H T:T
v VA (2)
11.3.2 [ n(S) = 4 VA Answer: 1 mark | (1)
3
1133 1P (atleastT) =7 YA Answer: 1 mark | (1)
[9]

TOTAL:

100




